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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Wdrning: col

[’ PHC' ,

"FVIPH' ]

ils missing

10

20

30

40

50

60

70




Plot [['FVOPH:r—o',

"PHO:g—o’ ]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

TTN’

Warnijg: COM['F OPH'] is missing

.-T

e T n NT’T Rl

0

10 20

30

40

50




Trend plot forP3-14 0
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P3-14

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

06:30 283 150.0 2.888 |Z=| {Ri&e06:30 Bz (KREERHSE)
07:10 283 150.0 2.888 |Z=| {Ri%eo7:10 Bz (REAEZHE)
08:25 283 150.0 2.888 |Z=| {Ri&e08:25 Bz (KREAERHE)
09:20 283 150.0 2.888 [ =| 1RiR@09:20 Bz (KAKZHE)
10:05 283 150. 0 2.888 FB| {Ri%@10:05 Bzl (GRAFERSE)
10:45 283 150.0 2. 888 FB| {Ri&@10:45 B3 (GRAFERSE)
11:20 283 150.0 2.888 FH| 1Ri%@11:20 B3h (GRABERSE)
12:05 283 150.0 2.888 |/\fi| FmHA@12:05 Bzh (KRAEESE)
12:35 283 150.0 2.888 |/\fu| FhHA@12:35 Bzl (REAEEE)
13:10 283 150.0 2.888 |/\fu| FhHA@13:10 Bz (REAERESE)
13:45 283 150.0 2.888 [/\fI| ThHR@13:45 Hzh CGRAEESE)
14:20 283 150.0 2.888 |/\fu| FhHA@14:20 Bz (REAEHE)
14:55 283 150.0 2.888 |/\fu| FhHA@14:55 Bz (KREAEHSE)
15:35 283 150.0 2.888 |[/\if| FiHBe15:35 Bzh (REAEESE)
16:20 283 150.0 2.888 |/\f| FhHA@16:20 Bz (REEEE)
17:20 283 150.0 2.888 [/\f| FhHR@17:20 Bzh (kAEEE)
Bit] 4528.0 (16%%) 2400.0 EUHIKEC: 2200, PH: 6.0

MERRNER S 5STREAERSE (184.0 : 150.0), AJEEHF—RZ XA45)
ZRIALBRERE150. 0 ml.

1EAEE Y S K it &RPH 6. 005
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P3-14

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:15 283 150.0 2.888 RS {Ri&e07:15 Hah (REAERSE)
07:50 283 150.0 2.888 BE| 1Ri%e07:50 B (RFERESE)
09:00 283 150.0 2.888 5| {Ri%@09:00 Bz (REEREE)
09:50 283 150.0 2.888 RS {Ri%&e09:50 Bz (REERE)
10:35 283 150.0 2.888 BS| 1Ri%e10:35 Bz (GREMEEEE)
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11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:30 283 150.0 2.888 B 1Ri%e12:30 B3 (GREMEESE)
13:00 283 150.0 2. 888 S| 1Ri%e13:00 B (RFEA{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:05 283 150.0 2.888 RS Rige14:05 Bz (REAEHE)
14:40 283 150.0 2. 888 BE| Ri%e14:40 B (GRF{EREE)
15:20 283 150.0 2.888 B Rige15:20 Bz (REAERSE)
16:05 283 150.0 2.888 el Rige16:05 BHa (REAEHE)
17:10 283 150.0 2. 888 BE| Ri%e17:10 B (GRF{EREE)
21t 4245.0 (15)%) 2250. 0 3 HEKEC: 2200, PH: 6.0

MEREHLER 2 5 MEIELRTT (184.0 :
PRIALBRIERE147.0 ml.

FREVE NS KiHKPH 6. 005
FHERECE (1847.0 vs 3740.0) 145
FREVEIN S K IKEC 2200. 0

147.0), AlEEHT—R % XA HS




P3-14_0, Day=72 (2025-06-11)
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14:00 283 150.0 2.888 5 B218@14:00 Bzh (RAEESE)
14:35 283 150.0 2.888 5 B2i1%014:35 Bzh (RFAKRES)
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P3-14

BriE) [ EBIAT (D) | EME (EH/H) | BEBREE(B/R) [XKS ERE

05:30 283 150.0 2.888 A {’Ri%@05:30 Bz (KREEREE)
06:30 283 150.0 2.888 A ;Ri%@06:30 Bzl (kAEEE)
08:15 283 150.0 2.888 (&= B21%@08:15 Bzh (FRFARESE)
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11:05 283 150. 0 2.888 (=& Bi%@11:05 Bzh (GRAEESE)
12:05 283 150.0 2.888 |Z =& B2i8@12:05 Bzh (RAKRESE)
13:15 283 150.0 2.888 [/I\[l Bi%@13:15 Bzh (GRAERESE)
13:55 283 150.0 2.888 [/I\[E Bi%@13:55 Bzh (RAERESE)
14:35 283 150.0 2.888 A BRig@14:35 Bz (RPBERE)
15:30 283 150.0 2.888 (&= B2i18015:30 Bzh (RAKRESE)
17:00 283 150.0 2.888 || FiTe17:00 Bzh (RAEESE)
23t 3113.0 (110%) 1650. 0 B HKEC: 2200, PH: 5.8

FERNEREEFEEART (184.0 : 150.0), AgEHF—RE XAH5
ZRIALBRIERE150. 0 ml.

WREY S RFRPH 5. 77, B THERHAZIFESIAIEPH, 5F A%
HEERECE (1897.0 vs 4277.0) 35

FREVEIN S K IKEC 2200. 0
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